NEGOTIATION - FINAL EXAMINATION (1999)





All questions are worth 5 points each.  Only correct answers count (i.e., there is no penalty for an incorrect guess).  If you mark more than one answer to a question, you will receive no credit for that question.  There are only 19 questions - you start with 5 free points.





1) Consider the following game:  There are 2 players.  Player 1 can propose a division (x1,x2) of 1 monetary unit such that x1 + x2 = 1 and x1, x2 ≥ 0.  After the offer from player 1, player 2 can choose to take either x1 or x2 and the game ends.  There is no discounting.  Suppose that player 1’s utility function is of the form u(x) = ln(x), while  player 2 has a utility function of the form u(x) = x, where x is the amount of money received.  What is the subgame-perfect outcome in this game?





a. Player 1 receives 1-(, player 2 receives (.


b. Player 1 receives (, player 2 receives 1-(.


c. Player 1 receives 1/2, player 2 receives 1/2.


d. It cannot be determined from the information provided.


e. None of the above.





2) Consider another bargaining situation where 2 bargainers have to divide 1 monetary unit and receive nothing if no agreement is reached. Suppose that the utility function of the 1st bargainer has the form u1 = x1 and that of the 2nd bargainer takes the form u2 = (x2)3, where x is money.  Compute the Nash bargaining solution.





a. x1 = 1/2, x2 = 1/2


b. x1 = 1/3, x2 = 2/3


c. x1 = 3/4, x2 = 1/4


d. x1 = 2/3, x2 = 1/3


e. None of the above.





3) Suppose that player x and player y are involved in a distributive negotiation.  Suppose that it is common knowledge that player 1 is more risk-averse than player 2 and that player 1 is more patient (payoffs shrink less with time) than player 2. What of the following statements is true:





a. Player x has the advantage in the negotiation.


b. Player y has the advantage in the negotiation.


c. Neither player has an advantage in the negotiation.


d. We cannot determine who, if anyone, has an advantage in the negotiation.


e. None of the above.





4) Which of the following is NOT important to assess in a negotiation:





a. Your BATNA


b. The other person’s BATNA.


c. Assess how important each issue is to you.


d. Where trade-offs might exist.


e. None of the above.





5) Which of the following tactics is frequently inadvisable in a negotiation:





a. Trying to use different time preferences to create mutually beneficial trade-offs.


b. Making multiple offers simultaneously.


c. Sharing all of your information with the other negotiator.


d. Asking lots of questions.


e. None of the above.





6) Which of the following is NOT a common mistake in negotiation:





a. Anchoring


b. Overconfidence


c. The winner’s curse.


d. Thinking about the framing issues in the negotiation.


e. None of the above.





7) Suppose you are selling a house and you have advertised the price as $300,000.  You receive no offers for a week or two and then receive an offer which you feel is disappointingly low.  Which of the following is a reasonable strategy:





a. Countering with an offer to split the difference between $300,000 and the other offer.


b. Telling the potential buyer that his offer is insulting and to come back when he is serious.


c. Accepting the offer.


d. Telling the potential buyer that you value his offer, but that you don’t believe he can find a house of this quality for the price he is offering.  Counter with $299,000.


e. None of the above.





8) In the Oil Production  case, which of the following appeared to be the case:





a. Collusion was easier to sustain when producers were a
